Model RMTC-5C

25.0 cl/pulse compensated cutput for ROOTS LINE-MOUNTED 1.5M - 11M TC UNITS
250.0 cf/pulse compensated output for ROOTS LINE-MOUNTED 16M TC UNITS

o DRAIN OIL: Remove BOTIOM plug {don't lose O-ring}, then loosen
second plug fo dllow dir into case [may have 2 or 3plugs).

REMOVE COVER; Remove é cover screws & washers.
3 ) DRILHOLE 15/64" diameter, approximately 1 1/2" from Puli cover rom TC unlt {watch for large O-ing.
surface of cover end. De-bur inside of hole.

Clean inside of cover.

INSERT GROMMET from inside. Delibercie fight
fit. Usesilicone grease to qid inserdion.

-|-—1 564"

GROSS SECTION

#8-32 STUDS: Remove TWO #8-32 nuis. Leave lockwashers in place. Install standofis {don't overtighten). \3\509‘ ﬁ\\\\
(144" % 20 BOLTS, SEE STEP Sa < \3?5»,‘5 ‘\ﬁ\\
1/4"x 20 BOLTS: Remove TWO 1/4"x 20 nuts. Leave lockwashers in place. ,\@8“'
Install 1/4" x 20 standoffs [1/4-20 ADAPTER KIT}. \\m\
NOTE: To aceess bolt heads, remove THREE or FOUR cop screws & QQ w

and CAREFULLY slide TC unit from meter.
[don't demage temperature sensor)

REMOVE INDICATOR DISK if in 1his position. Remove snap-ring,
slide disk from shaft {disk may have a different pattern).

REMOVE ROLL PIN: [CAREFULLY, do not bend shaftl. Tumwheal
clockwise while sliding onto shaft up to £4ing [farge shoulder first).

INSTALL PULSE ADAPTER PLATE: Carefully center pickup hole over wheel hub before tighiening.
INSPECT to be certain Adapter does not touch or interfere with any moving parts.

FEED CABLE iNTO COVER GROMMET: VERY fight fit, use silicone grease (don't forgét large O-ting).
Slide cover onto TC unit while drawing cable through grommet {no excess cable may remaininside].

INSTALL COVER: Instali & cover screws & washers (carefully seat large O-ring in cover groove).

@ FILL WITH ROOTS-APPROVED Qi only te fill marks. Tighten plugs {watch for small O-ings).



